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!"#$%&"'(%&%)* +','-.* /012,'-.* +3'%"23.* 4)%#1#$%51, 6"2$789:1 -#' 

6#;'112$%281%:1 (3)"<2,2*: =2>µ?"'2* 2010 –!)->µ?"'2* 2011) 

 

! "#$%&'() *+',-%+) ./0' 1#$.230' 10 1#$0&-4516 4 7%-.8 (5,9 ,6 /-%$'() +0-4%&% 

5+: ,%$ ;%0µ<-'% ,%# 2010 .=8 ,%$ >0(.µ<-'% ,%# 2011.  

 

>0&%µ.$%# :,' 5+: ,%$ ;%.µ<-'% ,%# 2010 6 *'&. ". *+',-%+) 5+.(,610 $.5 

1?$3016,1 <51'(: 3.µ5 ,=$ 1#$0&-'@$ ),5$ % +-%A-5µµ5,'1µ:8 ,=$ 0$0-A0'@$ 

5#,)8. *+'+2.%$, 0B0,9136(5$ 30µ5,'(.8 %' %+%408 57%-%?15$: 5) 1,%$ 

+-%1&'%-'1µ: &-910=$ +%# +-'µ%&%,%?$, 570$:8, ,6$ 5-µ%$'() 1#$?+5-B6 A6A0$@$ 

(5' 522%&5+@$ (5', 570,.-%#, ,6 30,'() 5$,'µ0,@+'16 ,=$ 522%&5+@$ <) 1,6$ 

0µ+%-45 5$3-@+=$ µ0 1(%+: ,6$ 0-A51'5() 0(µ0,9220#16 1,6$ *229&5 (5' ,6$ 

C?+-% A) 1,6$ &'5,9-5B6 ,%# (%'$=$'(%? '1,%? 10 +0-'%/.8 ,%# (.$,-%# ,68 D3)$58 

µ0 16µ5$,'() 1#A(.$,-=16 253-%µ0,5$51,@$ (53@8 (5' 1,6$ 91(616 -5,1'1,'()8 

<458 (6 +0-4+,=16 ,=$ 5$5,5-5/@$ 1,6$ %&: !+04-%# ?1,0-5 5+: ,6 &%2%7%$45 

E226$5 (5,%4(%# ,68 +0-'%/)8) (5' &) 1,6$ 1,)-'B6 ,68 %µ52)8 20',%#-A458 ,=$ 

#+6-01'@$ ,68 F0-98 "#$:&%# +%# +5-./%#$ 0B0'&'(0#µ.$08 #+6-01408 10 

522%&5+%?8. 

 

G' +-=,%<%#2408 (5' %' &-51,6-':,6,08 ,68 *'&. ". *+',-%+)8 1#$%H4I%$,5' 1,'8 

+5-5(9,= 0$.-A0'08: 

1. &'%-A9$=16 1#$5$,)10=$ µ0 0(+-%1@+%#8 µ0,5$51,0#,'(@$ (%'$%,),=$ 

+-%(0'µ.$%# %' ,020#,54%' $5 0$6µ0-@1%#$ ,5 µ.26 A'5 ,'8 1#$.+0'08 ,68 

%'(%$%µ'()8 (-4168 1,%#8 µ0,5$51,0#,'(%?8 +263#1µ%?8 +%# &'5<'%?$ (5' 

0-A9I%$,5' 1,6$ *229&5, µ0 5+@,0-% 1,:/% 570$:8, $5 µ020,6304 +@8 6 

*((26145 35 µ+%-%?10 $5 <%63)10' (5' 570,.-%#, 07:1%$ (-'304 1(:+'µ%, $5 

+-5Aµ5,%+%'6304 1#$9$,616 ,%# D-/'0+'1(:+%# D36$@$ (5' ,=$ 0(+-%1@+=$ 

,=$ µ0,5$51,0#,'(@$ (%'$%,),=$ (5' 1#22:A=$  

                                                
1 J5(,'(9 µ.26 ,68 *'&. ". *+',-%+)8 %-4136(5$ µ0 D+:7516 ,68 F0-98 "#$:&%# (EAA-57%$ F0-98 
"#$:&%# #+’ 5-'3µ. 4172/2677/25.11.2010)  6 (. K5-45 L%#,14$%#, 6 (. E20$5 M(20A(2., % (. 
K'/9268 K5-':-58, 6 (. N#&45-K5-45 K+%29$6, % (. D$,@$'%8 O5+5$,=$4%#, 6 (. P=) O5+51'@+6 
O51'9, 6 (. C522':+6 "+'$.226 (5' % (. M0@-A'%8 J15-µ+:+%#2%8. K0 ,6$ +5-5+9$= +-9B6, 6 (. 
!2.(,-5 O0,-9(%#, % (. O.,-%8 ",53:+%#2%8 (5' 6 (. C522':+6 ",075$9(6 %-4136(5$ =8 
5$5+26-=µ5,'(9 µ.26. 
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2. +-%0,%'µ5145 .(30168 A'5 ,6$ (5,91,516 1,% '1,%-'(: (.$,-% ,68 D3)$58 (5' 

,6$ 0#-?,0-6 +0-'%/). 

 

*+4168, % O-:0&-%8 (5' 6 M-5µµ5,.58 ,68 *+',-%+)8 1#µµ0,04/5$ µ0 0'16A)10'8 10 

1#$.&-0'5. "#A(0(-'µ.$5, % O-:0&0%8 ),5$ *'16A6,)8 1,% J-')µ0-% F0-5,'(: 

"0µ'$9-'% O%'µ5$,'()8 G'(%A.$0'58 +%# &'%-A9$=10 6 F0-9 K6,-:+%26 

>6µ6,-'9&%8 1,% "#$0&-'5(: C.$,-% Q01152458 (L:2%8) 1,'8 10-12 ;%0µ<-4%# 

2010. ! 0'1)A616 04/0 ,4,2% «!"#µ$%&#'( )#'"*+%,#$- .,&$%$/&0%». ! (. *#5AA0245 

>%#-4&5, M-5µµ5,.58 ,68 *+',-%+)8 1#µµ0,04/0 µ0 0'1)A616: 

 ",'8 14 & 15 D+-'24%# 2011 1,% >')µ0-% "#$.&-'% µ0 ,4,2% «K6/5$'1µ%4 

#+%1,)-'B68 ,68 (%'$=$'()8 .$,5B68: K0,5$91,-08/-'08» +%# &'%-A5$@36(0 5+: ,6$ 

*COG"OG «;:1,%8» 1,% R0$%&%/04% NOVOTEL (K'/. L:&5 4-6, D3)$5). ! 

0'1)A616 ,68 (. >%#-4&5 04/0 ,4,2% «12*$/#$'3 trafficking /&4% 15567$. !"28/µ$&$ 

923/:$&4- +2,;%$-» 

 ",'8 11 F%#$4%# 2011 10 !µ0-4&5 µ0 ,4,2% «J% F129µ 1,6$ *229&5: Q-61(0#,'() 

,5#,:,6,5 (5' +-5(,'() µ0,5B? 5#,%/3:$=$ (5' µ0,5$51,@$ K%#1%#2µ9$=$» +%# 

&'%-A5$@36(0 5+: ,% University of Surrey 1,%$ O%2#/@-% O%2','1µ%? DQ!;DS" 

(C51,%-'98 34-36, D3)$5). ! 0'1)A616 ,68 (. >%#-4&5 04/0 ,4,2% «<;%"9&#'( 

9$2";/8$/4 &"; <=,78"; >26/4- ?%$@4&0%&$- A39";- <;%B9$2C4-» 

 ",'8 22 (5' 23 F%#$4%# 2011 10 >'6µ0-4&5 µ0 ,4,2% «M#$5'(045 K0,5$91,0#16: 

TH0'8, +-%<2)µ5,5 (5' +-%%+,'(.8 .$,5B68 1,6$ *229&5» +%# &'%-A5$@36(0 5+: ,% 

*3$'(: C.$,-% C%'$=$'(@$ *-0#$@$ 10 1#$0-A5145 µ0 ,% Jµ)µ5 C%'$=$'%2%A458 

,%# O5$,04%# O5$0+'1,6µ4%# (5' ,% C.$,-% M#$5'(04=$ K020,@$ (5' *-0#$@$/ 

>FGJFKD 1,% ;.% Dµ7'3.5,-% ,%# C0$,-'(%? C,'-4%# ,%# O5$0+'1,6µ4%# D36$@$. 

! 0'1)A616 ,68 (. >%#-4&5 04/0 ,4,2% «!$2";/8$/4 &"; >#'&B"; 1%8/=;/4- '$# 

<&(2#C4- .,&$%$/&2#0% – >1<.1». 

 

J.2%8, 6 (. >%#-4&5 0+'1(.7,6(0 (5' 1#$%µ42610 µ0 ,%#8 300 5+0-A%?8 +04$58 +%# 

(5,.2#5$ 1,% µ.A5-% U+5,458 (5' 1#$.,5B0 1/0,'() .(3016 +-%8 0$6µ.-=16 ,%# 

K5(5-'=,9,%#. 

 

 

 


